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@ Solving Sequence
3
39->10>4->511>8—>6-—>2—>1-—>7—> 12> C4,C6,C11
C9 g Cs

. €3 C10 C2 €1 Cr (12
A knot dlagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (—6.95358 x 10743 — 4.07407 x 103¢u*? 4 - +1.61095 x 103%b — 9.52256 x 1039,
— 7.06431 x 10%%423 4 8.51893 x 1028422 + ... 4 2.30366 x 10*a — 7.64291 x 10%!,
u? 4w 4+ 289u + 143)

={(-u®—u"+ 4b-1, 20—+ 4a—1, " — 120"+ +4u—1)

* 2 irreducible components of dim¢ = 0, with total 43 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} = (—6.95 x 1037423 — 4.07 X 10%%u?? 4 ... 4 1.61 x 10%%b — 9.52 X
1032, —7.06 x 103%u23 + 8.52 x 1038422 4 ... + 2.30 x 10*'a — 7.64 X
1041, w24 4 w23 + ... + 289u + 143)

(i) Arc colorings

—Uu
—ud +u
0.0306656u23 — 0.00369799u22 + - - - + 2.32158u + 3.31772
0.0431644u23 + 0.00252898u22 + - - - + 7.19118u + 5.91114

—u?+1
a1 = \ —y* 4 202
0.0142787u23 — 0.00544253u?2 4 - - - + 2.94433u + 2.42345
0.0139246u23 — 0.0131718u?2 + - - - + 1.01894w + 0.464061

0.0251613u?3 — 0.000730907u?2 + - - - + 1.76692u + 2.55543)

ag =

ag =

—0.0181599u23 + 0.00533470u?? + - - - — 1.56432u — 1.98558

—0.0497304u23 4 0.00323432u22 + - - - — 6.95114u — 7.14443)
ag =

—0.0419268u23 — 0.00473941u?2 + - - - — 4.93122u — 6.22408

—0.0497304u?3 + 0.00323432u22 + - - - — 6.95114u — 7.14443
0.0148906u23 — 0.00607853u32 + - - - + 3.26414u + 1.34988

—0.0265932u> — 0.00297561u? + - - - — 2.70453u — 3.73203
ar = 10.00559528u* — 0.00695287u*? + - - - 4 0.504854u + 0.119250

—0.0348398u23 — 0.00284421u22 + - - - — 3.68700u — 5.79455
a1z =\ 0.0148906u23 — 0.00607853u22 + - - - + 3.26414u + 1.34988

ayp =

(ii) Obstruction class = —1

(iii) Cusp Shapes = —0.0449908u23 + 0.00298260u*? + - - - — 19.5117u — 16.1952



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

1 u?* + 60u + - -+ + 3708160u + 295936

Co,C7 u? —10u® + -+ + 16u + 544

€3, Cy, C10 u?t —u® ... — 289 + 143

Ca u?* £ 3u o — 327w — 41

Cs, C8 w4+ 2uP 4 4+ 13u—1

Cg, C11 w? — w4+ —288u— 69
Cra u?t = 36u”? + - -+ — 47638u — 14543




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y — 296y + - - - — 4939910283264y + 87578116096
24 23
Ca, €7 y*t — 60y*3 + - - - — 3708160y + 295936
¢s,Co, C10 y?t — 457 + ... — 70079y + 20449

Ca y?t — 11y + ... — 33785y + 1681

cs, Cg v+ 260 + - — 575y + 1

Ce C11 y?t —9y*3 + . — 35058y + 4761
c12 y*t — 72973 + - — 2969653580y + 211498849




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.998180 4 0.18242171
a = —0.371865 + 0.9638241
b= —0.46248 + 1.360401

—2.89773 — 4.474111

—11.26620 + 4.322251

u = —0.998180 — 0.18242171
a = —0.371865 — 0.9638241
b= —0.46248 — 1.360401

—2.89773 4+ 4.474111

—11.26620 — 4.322251

u = —1.08785
a= 0.370138
b= 0.466022

—5.81657

—15.7030

u = —0.908883 + 0.6963461
a= 0.819047 — 0.7486431
b= —1.50457 — 0.485871

2.29616 + 2.531481

—13.0553 — 13.08941

u = —0.908883 — 0.6963461
0.819047 + 0.7486431
b= —1.50457 + 0.485871

a =

2.29616 — 2.531481

—13.0553 + 13.08941

u = —0.369638 + 0.6558561
a= 0.163913 + 0.0885701
b = —0.483150 + 1.2546901

—1.35028 — 2.8512971

—8.82275 — 0.175681

u = —0.369638 — 0.6558561
a= 0.163913 — 0.0885701
b = —0.483150 — 1.2546901

—1.35028 4- 2.851291

—8.82275 + 0.175681

u = 0.351833 4 0.6536111
a = —1.42495 — 0.284171
b= 0.440762 — 1.2675201

—3.72902 — 2.236691

—11.06844 + 3.089431

u = 0.351833 — 0.6536111
a = —1.42495 + 0.284171
b= 0.440762 + 1.2675201

—3.72902 + 2.236691

—11.06844 — 3.089431

u= 1312160 4 0.1139331
a = —0.648596 + 1.2190501
b= 0.265262 + 0.1143331

—2.00982 — 3.686661

—7.35603 + 5.276821




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u= 1.312160 — 0.1139331
a = —0.648596 — 1.2190501
b= 0.265262 — 0.1143331

—2.00982 + 3.68666.1

—7.35603 — 5.276821

u = —1.42954 + 0.073981
a = —0.35156 — 1.372761
b= 0.443663 — 1.1153801

—9.16253 — 3.521521

—17.4723 + 4.93111

u = —1.42954 — 0.073981
a = —0.35156 4+ 1.372761
b= 0.443663 + 1.1153801

—9.16253 4 3.521521

—17.4723 — 4.93111

u = —0.172334 4 0.5219291
a= 0.57148 — 1.669971
b= —0.572916 + 0.0494321

2.32011 + 1.439821

—3.19830 — 4.082381

u = —0.172334 — 0.5219291
a= 0.57148 4+ 1.669971
b= —0.572916 — 0.0494321

2.32011 — 1.439821

—3.19830 + 4.082381

u= 0406773

a = —0.663948 —0.603529 —16.4560
b= 0.198801
u= 177917

a= 0.251024 —16.2026 —29.6210
b = —0.0435926

u = —2.04114 + 0.562301
a = —0.502493 + 0.9533701
b= 1.10365+ 1.706311

14.2564 + 11.75051

—11.51618 — 4.214951

u = —2.04114 — 0.562301
a = —0.502493 — 0.9533701
b= 1.10365 — 1.706311

14.2564 — 11.75051

—11.51618 4 4.214951

u= 237547 + 0.303311
a= 0.174548 + 1.0002701
b= —0.11023 + 2.211271

14.5489 — 0.56831

—8.00000 + 0.1




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u= 237547 —0.303311
a= 0.174548 — 1.0002701 14.5489 + 0.56831 | —8.00000 + 0.1
b= —-0.11023 — 2.211271
u= 214046 + 1.174501
a = —0.469141 — 0.6470961 | —13.27670 — 2.356711 0
b= 0.27079 — 2.641571
u= 2.14046 — 1.174501
a = —0.469141 + 0.6470961 | —13.27670 + 2.356711 0
b= 10.27079 4 2.641571
u = —2.61851
a= 0.128998 18.9868 —8.00000
b= 259719




II.
IY = (—u'®—u'"+- . -+b—1, —2u—u!®+...4a—1, u'®—12u'"+.. . +4u—1)

(i) Arc colorings

1
ag = 0
1
alg = U2
—Uu
ag = \—ud+u
2ut6 4yl 4 4 6u+1
a5 = u18+u17_’_..__u+1
—uZ+1
ajl = —U4+2'LL2
—ut® — T o 1T - T
ag = Wy —1
wl” +2u0 . — 10u? + 2u
e = ul® —10utt + - +u—1
ul® — 12010 + - — 8u + 2
az = \ B 4207+ —Tu+2
wl® — 12410 ... —8u+2
ay = w20+ —8u 42
—ul® + 12016 -+ 5y —1
a7 = w® +ul” 22— 2u
Ul 20"+ —16u+4
a2 =\ o8 427 +... —8u+2

(ii) Obstruction class =1

(iii) Cusp Shapes = —u'® — 7Tu!” + 4u!® 4 70u!® + 15u'? — 288u'3 — 116u'? + 648ult +
286u'0 — 880u° — 387u® + 725u” + 321ub — 320u® — 125u* + 53u® — 15u® — 11lu — 7



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u'® — 160 4+ 9u -1
C2 u' —8ut" -t u+ 1
s u' =120+ du 1
€a u'® —2u'® + -+ 5u + 1
¢ u'? 4+ 3ut® o —6u? — 1
6 u F2ulT 4 —u—1
cr u —8ulT 4 fu—1
s ut® —3ur® 4.+ 6u? + 1

Cg, C10 w® =120+ 4w —1
c11 u F2ulT w1l
P u' —u'® 4 — 39u — 169




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 g 39y 4. 19y — 1
C2; €7 Yy —16y" 4+ 49y — 1
€3, Cy, €10 Yt — 24yt 4. —4y? 1
Cyq v 46y o — 10y — 1
Cs5,C8 O Ty 12y —1
C6,C11 Yt 4yt 13y — 1
12 Yt — 7yt 4 — 20111y — 28561
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.980950 + 0.6040761
= —0.798772 — 0.7553731
= 1.49647 — 0.523551

2.48141 — 2.274701

1.66056 — 6.577161

= 0.980950 — 0.6040761
= —0.798772 + 0.7553731
= 1.49647 + 0.523551

2.48141 4 2.274701

1.66056 + 6.577161

= —0.737628 4+ 0.3598111
= 0.067452 — 0.9204201
= —0.762089 + 0.8324331

—5.41374 — 1.592761

—15.0492 + 2.81681

= —0.737628 — 0.3598111
= 0.067452 + 0.9204201
= —0.762089 — 0.8324331

—5.41374 4 1.592761

—15.0492 — 2.81681

—1.179440 4 0.1702401
0.90264 — 1.494021
= —0.490604 — 1.1159801

—7.08654 + 3.527881

—12.56931 — 3.152121

—1.179440 — 0.1702401
= 0.90264 + 1.494021
= —0.490604 + 1.1159801

—7.08654 — 3.527881

—12.56931 + 3.152121

= 1.277010 4 0.1148421
—0.193294 — 0.3141191
= 0.305041 — 1.1457001

—4.51476 — 5.177591

—14.4043 4 6.75541

1.277010 — 0.11484271
—0.193294 + 0.3141191
0.305041 + 1.1457001

—4.51476 + 5.177591

—14.4043 — 6.75541

1.340980 + 0.1470891
—0.55132 + 2.054991
0.135134 + 0.7675471

—2.81013 — 3.350151

—16.3799 + 1.59701

1.340980 — 0.1470891
= —0.55132 — 2.054991
= 0.135134 — 0.7675471

> Q& €|l & €|l & €| Q& €| Q& €| Q@ &l Q& €|l & €|l & €| & &
I

—2.81013 4 3.350151

—16.3799 — 1.59701
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Solutions to I3

V=1(vol + y=1C)

Cusp shape

u = —1.42878 + 0.222361
a= 0.635513 4 0.3605031
b = —0.044798 4- 0.6425971

—3.93872 4 0.693461

—13.16284 + 0.109301

u = —1.42878 — 0.222361
a= 0.635513 — 0.3605031
b= —0.044798 — 0.6425971

—3.93872 — 0.693461

—13.16284 — 0.109307

u = 0.353961 + 0.2488801
0.60428 + 1.706161
0.444558 + 1.1676301

—1.30454 4 3.854591

—7.72386 — 6.557401

u= 0.353961 — 0.2488801
0.60428 — 1.706161
0.444558 — 1.1676301

—1.30454 — 3.854591

—7.72386 + 6.557401

u = 0.112509 + 0.3566971
a= 3.67512 —2.279301
0.086415 — 0.6872321

1.35323 + 1.562591

—12.20805 — 3.143131

u= 0.112509 — 0.3566971
3.67512 + 2.279301
0.086415 + 0.6872321

1.35323 — 1.562591

—12.20805 + 3.143131

u = —1.62694 + 0.050581
a = —0.334359 — 0.9891401
b= 10.609573 — 1.0220401

—8.63988 — 2.650051

—12.70208 — 1.236011

u = —1.62694 — 0.050581
a = —0.334359 + 0.9891407

—8.63988 +- 2.650051

—12.70208 + 1.236011

b= 0.609573 + 1.0220401

u= 1.81475

a = —0.0145195 —15.9196 —0.921900
b = —0.559404
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

€1 (u'? — 16u'® + -+« + 9u — 1) (u®* 4 60u®® + - - - + 3708160u + 295936)
C2 (' —8u'™ - u+ 1) (u? — 100 4 - - + 16u + 544)
€3 (u' — 120" 4+ du 4+ 1) (Wt — u® - — 289u 4 143)
cs (u' —2u'® + -+ 5u? + 1) (u + 3u® + - — 327u — 41)
Cs (u' +3u!® + - —6u® — 1) (u* + 20 + -+ 13u—1)
6 (' 420" - —u—1)(u® —u® + - — 288u — 69)
cr (u' = 8u + -t u—1)(u* — 10u* + - - - + 16u + 544)
Cs (' —3u'® + - 4+ 6u + 1) (u®* + 20+ +13u— 1)

¢, C10 (' — 120" 4 -+ du — 1) (u* — u® 4 - — 289u + 143)
11 (' +2u'" - — w4 1) (W — w4 — 288u — 69)
c12 (u® —u'® 4 - — 39u — 169)(u?* — 36u?? + - - - — 47638u — 14543)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 (y" =329+ =19y — 1)
(y?* — 296923 + - - - — 4939910283264y + 87578116096)
Cs, 07 (' — 16y + - + 9y — 1)(y** — 60y>® + - - - — 3708160y + 295936)
€3, Co, C10 (y' — 24918 + ... — 4y® — 1) (y** — 45y* + - - — 70079y + 20449)
C4 (' + 6y + - — 10y — 1)(y** — 11y* + - — 33785y + 1681)
cs,C8 (Y + 7yt =12y — 1) (y* 26y 4+ - — 5THy 4+ 1)
Ce, C11 (y" +4y"® + - — 13y — 1)(y** — 9y** + - -- — 35058y + 4761)
1o (y' — 7y'® + .- — 20111y — 28561)

Syt — 2y 4 - — 2969653580y + 211498849)
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